

# **Summary of Bids Received**

Project: O'Plaine Road Resurfacing

Section: 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$2,119,783.64	2.50%	\$51,695.54
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$2,127,585.07	2.88%	\$59,496.97
Curran Contracting Company	286 Memorial Court	Crystal Lake, IL 60014	Bid Bond	\$2,487,056.39	20.26%	\$418,968.29
Engineer's Estimate				\$2,068,088.10		
Design	IDOT(2)	Contract Bidder	ſ	PJT then Plan Rack		
	1001(2)	Contract Blader		Ji tileli i lali kack		
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	Request By Mail		Mgr Capital Prograr	nming	
1						



#### **Return Bid Tabulation**

**Project:** O'Plaine Road Resurfacing **Section:** 13-00109-08-RS

Description: Mill and Resurface O'Plaine Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Curran Contrac	ting Company	J. A. Johnson Pa	ving Company	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	222.0	UNIT	\$150.00	\$33,300.00	\$317.80	\$70,551.60	\$52.00	\$11,544.00	\$344.00	\$76,368.00
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	10,796.0	SQ YD	\$3.50	\$37,786.00	\$3.00	\$32,388.00	\$3.00	\$32,388.00	\$3.00	\$32,388.00
3	21400100	GRADING AND SHAPING DITCHES	576.0	FOOT	\$30.00	\$17,280.00	\$16.10	\$9,273.60	\$11.00	\$6,336.00	\$21.25	\$12,240.00
4	25000210	SEEDING, CLASS 2A	2.2	ACRE	\$3,500.00	\$7,700.00	\$4,840.00	\$10,648.00	\$5,000.00	\$11,000.00	\$4,840.00	\$10,648.00
5	25000400	NITROGEN FERTILIZER NUTRIENT	201.0	POUND	\$2.00	\$402.00	\$2.00	\$402.00	\$2.00	\$402.00	\$2.00	\$402.00
6	25000600	POTASSIUM FERTILIZER NUTRIENT	201.0	POUND	\$2.00	\$402.00	\$2.00	\$402.00	\$2.00	\$402.00	\$2.00	\$402.00
7	25100630	EROSION CONTROL BLANKET	10,796.0	SQ YD	\$3.00	\$32,388.00	\$2.00	\$21,592.00	\$1.75	\$18,893.00	\$1.75	\$18,893.00
8		TEMPORARY DITCH CHECKS	114.0	FOOT	\$15.00	\$1,710.00	\$26.10	\$2,975.40	\$17.00	\$1,938.00	\$17.00	\$1,938.00
9		AGGREGATE BASE COURSE, TYPE B	209.0	TON	\$25.00	\$5,225.00	\$38.05	\$7,952.45	\$30.00	\$6,270.00	\$11.00	\$2,299.00
10		AGGREGATE FOR TEMPORARY ACCESS	28.0	TON	\$15.00	\$420.00	\$187.85	\$5,259.80	\$30.00	\$840.00	\$30.00	\$840.00
11		BITUMINOUS MATERIALS (PRIME COAT)		GALLON	\$0.25	\$4,689.00	\$0.01	\$187.54	\$0.01	\$187.54	\$0.01	\$187.54
12		AGGREGATE (PRIME COAT)	375.0	TON	\$1.00	\$375.00	\$2.55	\$956.25	\$1.00	\$375.00	\$1.00	\$375.00
13	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$114.85	\$1,148.50	\$150.00	\$1,500.00	\$645.00	\$6,450.00
14	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	3,432.0	TON	\$90.00	\$308,880.00	\$96.55	\$331,359.60	\$97.00	\$332,904.00	\$97.25	\$333,762.00
15	40600990	TEMPORARY RAMP	268.0	SQ YD	\$10.00	\$2,680.00	\$35.75	\$9,581.00	\$10.00	\$2,680.00	\$16.50	\$4,422.00
16	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	2,717.0	TON	\$65.00	\$176,605.00	\$73.25	\$199,020.25	\$73.00	\$198,341.00	\$62.75	\$170,491.75
17	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	7,985.0	TON	\$80.00	\$638,800.00	\$86.35	\$689,504.75	\$72.00	\$574,920.00	\$74.75	\$596,878.75
18	42001300	PROTECTIVE COAT	180.0	SQ YD	\$5.00	\$900.00	\$2.00	\$360.00	\$3.50	\$630.00	\$2.00	\$360.00
19	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	570.0	SQ FT	\$6.00	\$3,420.00	\$6.50	\$3,705.00	\$9.00	\$5,130.00	\$6.50	\$3,705.00
20	42400800	DETECTABLE WARNINGS	88.0	SQ FT	\$22.00	\$1,936.00	\$35.00	\$3,080.00	\$30.00	\$2,640.00	\$35.00	\$3,080.00
21	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	81,718.0	SQ YD	\$2.00	\$163,436.00	\$4.50	\$367,731.00	\$2.00	\$163,436.00	\$2.82	\$230,444.76
22	44000200	DRIVEWAY PAVEMENT REMOVAL	1,763.0	SQ YD	\$9.00	\$15,867.00	\$7.70	\$13,575.10	\$4.50	\$7,933.50	\$10.00	\$17,630.00
23	44000500	COMBINATION CURB AND GUTTER REMOVAL	439.0	FOOT	\$5.00	\$2,195.00	\$8.00	\$3,512.00	\$21.00	\$9,219.00	\$8.00	\$3,512.00
24	44000600	SIDEWALK REMOVAL	570.0	SQ FT	\$2.00	\$1,140.00	\$5.00	\$2,850.00	\$4.00	\$2,280.00	\$2.70	\$1,539.00
25	44004250	PAVED SHOULDER REMOVAL	6,633.0	SQ YD	\$5.00	\$33,165.00	\$4.95	\$32,833.35	\$5.50	\$36,481.50	\$6.45	\$42,782.85
26	44201761	CLASS D PATCHES, TYPE I, 10 INCH	371.0	SQ YD	\$30.00	\$11,130.00	\$55.00	\$20,405.00	\$74.00	\$27,454.00	\$30.00	\$11,130.00
27	44201765	CLASS D PATCHES, TYPE II, 10 INCH	557.0	SQ YD	\$30.00	\$16,710.00	\$55.00	\$30,635.00	\$73.00	\$40,661.00	\$30.00	\$16,710.00
28	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,300.0	SQ YD	\$30.00	\$39,000.00	\$55.00	\$71,500.00	\$72.00	\$93,600.00	\$30.00	\$39,000.00
29	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,486.0	SQ YD	\$30.00	\$44,580.00	\$55.00	\$81,730.00	\$71.00	\$105,506.00	\$30.00	\$44,580.00



#### **Return Bid Tabulation**

**Project:** O'Plaine Road Resurfacing **Section:** 13-00109-08-RS

Description: Mill and Resurface O'Plaine Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Estir	nate	Curran Contract	ing Company	J. A. Johnson Pa	ving Company	Peter Baker & S	Son Company
	,	2 coonparen	Quantity	•	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30	48101200	AGGREGATE SHOULDERS, TYPE B	1,594.0	TON	\$25.00	\$39,850.00	\$29.35	\$46,783.90	\$40.00	\$63,760.00	\$33.25	\$53,000.50
31	54248510	CONCRETE COLLAR	2.0	CU YD	\$800.00	\$1,600.00	\$350.00	\$700.00	\$200.00	\$400.00	\$200.00	\$400.00
32	59300100	CONTROLLED LOW-STRENGTH MATERIAL	2.0	CU YD	\$400.00	\$800.00	\$350.00	\$700.00	\$250.00	\$500.00	\$250.00	\$500.00
33	60250200	CATCH BASINS TO BE ADJUSTED	8.0	EACH	\$400.00	\$3,200.00	\$375.00	\$3,000.00	\$300.00	\$2,400.00	\$300.00	\$2,400.00
34	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$435.00	\$870.00	\$300.00	\$600.00	\$300.00	\$600.00
35	60256700	MANHOLES TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	2.0	EACH	\$1,000.00	\$2,000.00	\$810.00	\$1,620.00	\$650.00	\$1,300.00	\$650.00	\$1,300.00
36	60260100	INLETS TO BE ADJUSTED	5.0	EACH	\$400.00	\$2,000.00	\$375.00	\$1,875.00	\$300.00	\$1,500.00	\$300.00	\$1,500.00
37	60500060	REMOVING INLETS	4.0	EACH	\$400.00	\$1,600.00	\$350.00	\$1,400.00	\$100.00	\$400.00	\$100.00	\$400.00
38	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	271.0	FOOT	\$30.00	\$8,130.00	\$36.00	\$9,756.00	\$22.00	\$5,962.00	\$36.00	\$9,756.00
39	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	168.0	FOOT	\$30.00	\$5,040.00	\$38.00	\$6,384.00	\$35.00	\$5,880.00	\$38.00	\$6,384.00
40	67100100	MOBILIZATION	1.0	L SUM	\$124,250.00	\$124,250.00	\$138,000.00	\$138,000.00	\$125,000.00	\$125,000.00	\$186,640.00	\$186,640.00
41	70300100	SHORT-TERM PAVEMENT MARKING	19,538.0	FOOT	\$0.10	\$1,953.80	\$1.55	\$30,283.90	\$0.01	\$195.38	\$0.01	\$195.38
42	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,522.0	SQ FT	\$1.00	\$1,522.00	\$0.01	\$15.22	\$0.01	\$15.22	\$0.05	\$76.10
43	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	52,411.0	FOOT	\$0.25	\$13,102.75	\$0.01	\$524.11	\$0.01	\$524.11	\$0.01	\$524.11
44	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	35,810.0	FOOT	\$0.25	\$8,952.50	\$0.01	\$358.10	\$0.01	\$358.10	\$0.01	\$358.10
45	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	5,681.0	FOOT	\$0.25	\$1,420.25	\$0.01	\$56.81	\$0.01	\$56.81	\$0.01	\$56.81
46	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	6,319.0	FOOT	\$0.50	\$3,159.50	\$0.01	\$63.19	\$0.01	\$63.19	\$0.01	\$63.19
47	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	152.0	FOOT	\$2.50	\$380.00	\$0.01	\$1.52	\$0.01	\$1.52	\$0.01	\$1.52
48	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	9,441.0	FOOT	\$1.00	\$9,441.00	\$2.00	\$18,882.00	\$1.00	\$9,441.00	\$0.01	\$94.41
49	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	3,147.0	SQ FT	\$1.00	\$3,147.00	\$1.50	\$4,720.50	\$0.01	\$31.47	\$0.01	\$31.47
50	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,522.0	SQ FT	\$5.00	\$7,610.00	\$3.25	\$4,946.50	\$3.25	\$4,946.50	\$3.25	\$4,946.50
51	78000200	THERMOPLASTIC PAVEMENT MARKING LINE 4"	47,857.0	FOOT	\$1.00	\$47,857.00	\$0.50	\$23,928.50	\$0.50	\$23,928.50	\$0.50	\$23,928.50



#### **Return Bid Tabulation**

**Project:** O'Plaine Road Resurfacing **Section:** 13-00109-08-RS

Description: Mill and Resurface O'Plaine Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Estir		Curran Contract		J. A. Johnson Pav		Peter Baker &	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	7,005.0	FOOT	\$1.00	\$7,005.00	\$0.60	\$4,203.00	\$0.60	\$4,203.00	\$0.60	\$4,203.00
53	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,681.0	FOOT	\$1.00	\$5,681.00	\$0.70	\$3,976.70	\$0.70	\$3,976.70	\$0.70	\$3,976.70
54	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	6,319.0	FOOT	\$2.00	\$12,638.00	\$1.40	\$8,846.60	\$1.40	\$8,846.60	\$1.40	\$8,846.60
55	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	152.0	FOOT	\$4.00	\$608.00	\$3.25	\$494.00	\$3.25	\$494.00	\$3.25	\$494.00
56	78001110	PAINT PAVEMENT MARKING - LINE 4"	4,554.0	FOOT	\$0.20	\$910.80	\$0.25	\$1,138.50	\$0.25	\$1,138.50	\$0.05	\$227.70
57	78001120	PAINT PAVEMENT MARKING - LINE 5"	28,805.0	FOOT	\$0.30	\$8,641.50	\$0.30	\$8,641.50	\$0.30	\$8,641.50	\$0.05	\$1,440.25
58	88600600	DETECTOR LOOP REPLACEMENT	1,597.0	FOOT	\$15.00	\$23,955.00	\$20.00	\$31,940.00	\$16.50	\$26,350.50	\$16.90	\$26,989.30
59	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$1,000.00	\$10,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$115.00	\$1,150.00
60	10200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	2,602.0	UNIT	\$1.00	\$2,602.00	\$1.00	\$2,602.00	\$1.00	\$2,602.00	\$1.00	\$2,602.00
61	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	875.0	FOOT	\$15.00	\$13,125.00	\$14.25	\$12,468.75	\$5.00	\$4,375.00	\$19.40	\$16,975.00
62	LC400202	SEAL COAT	1,155.0	SQ YD	\$2.00	\$2,310.00	\$5.00	\$5,775.00	\$1.10	\$1,270.50	\$4.95	\$5,717.25
63	LC600200	INSTALL SURVEY MONUMENTS	1.0	EACH	\$500.00	\$500.00	\$1,455.40	\$1,455.40	\$1,700.00	\$1,700.00	\$850.00	\$850.00
64	LC800150	REBUILD EXISTING HEAVY DUTY HANDHOLE	2.0	EACH	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	\$2,100.00	\$4,200.00	\$1,600.00	\$3,200.00
65	X2800500	INLET PROTECTION, SPECIAL	4.0	EACH	\$300.00	\$1,200.00	\$200.00	\$800.00	\$120.00	\$480.00	\$120.00	\$480.00
66	X6023500	INLETS, TYPE A, WITH SALVAGED FRAME AND GRATE	4.0	each	\$1,000.00	\$4,000.00	\$1,250.00	\$5,000.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00
67	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SEPCIAL)	9.0	EACH	\$500.00	\$4,500.00	\$735.00	\$6,615.00	\$550.00	\$4,950.00	\$550.00	\$4,950.00
68	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$2,928.35	\$8,785.05	\$3,000.00	\$9,000.00	\$3,500.00	\$10,500.00
69	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$62,125.00	\$62,125.00	\$36,363.65	\$36,363.65	\$75,100.00	\$75,100.00	\$44,368.03	\$44,368.03
70	XX000856	MAILBOX REMOVAL AND RELOCATION	26.0	EACH	\$150.00	\$3,900.00	\$335.05	\$8,711.30	\$150.00	\$3,900.00	\$225.00	\$5,850.00
71	XX206400	MAILBOX POST	26.0	EACH	\$75.00	\$1,950.00	\$101.50	\$2,639.00	\$150.00	\$3,900.00	\$150.00	\$3,900.00
72	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$80.00	\$4,000.00	\$152.25	\$7,612.50	\$50.00	\$2,500.00	\$5.00	\$250.00
		Bid Total				\$2,068,088.10		\$2,487,056.39		\$2,119,783.64		\$2,127,585.07



Project: O'Plaine Road Resurfacing

Section: 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Est	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	222.0	UNIT	\$150.00	\$33,300.00	\$52.00	\$344.00	\$237.93
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	10,796.0	SQ YD	\$3.50	\$37,786.00	\$3.00	\$3.00	\$3.00
3	21400100	GRADING AND SHAPING DITCHES	576.0	FOOT	\$30.00	\$17,280.00	\$11.00	\$21.25	\$16.12
4	25000210	SEEDING, CLASS 2A	2.2	ACRE	\$3,500.00	\$7,700.00	\$4,840.00	\$5,000.00	\$4,893.33
5	25000400	NITROGEN FERTILIZER NUTRIENT	201.0	POUND	\$2.00	\$402.00	\$2.00	\$2.00	\$2.00
6	25000600	POTASSIUM FERTILIZER NUTRIENT	201.0	POUND	\$2.00	\$402.00	\$2.00	\$2.00	\$2.00
7	25100630	EROSION CONTROL BLANKET	10,796.0	SQ YD	\$3.00	\$32,388.00	\$1.75	\$2.00	\$1.83
8	28000305	TEMPORARY DITCH CHECKS	114.0	FOOT	\$15.00	\$1,710.00	\$17.00	\$26.10	\$20.03
9	35101400	AGGREGATE BASE COURSE, TYPE B	209.0	TON	\$25.00	\$5,225.00	\$11.00	\$38.05	\$26.35
10	40201000	AGGREGATE FOR TEMPORARY ACCESS	28.0	TON	\$15.00	\$420.00	\$30.00	\$187.85	\$82.62
11	40600100	BITUMINOUS MATERIALS (PRIME COAT)	18,756.0	GALLON	\$0.25	\$4,689.00	\$0.01	\$0.01	\$0.01
12	40600300	AGGREGATE (PRIME COAT)	375.0	TON	\$1.00	\$375.00	\$1.00	\$2.55	\$1.52
13	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$114.85	\$645.00	\$303.28
14	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	3,432.0	TON	\$90.00	\$308,880.00	\$96.55	\$97.25	\$96.93
15	40600990	TEMPORARY RAMP	268.0	SQ YD	\$10.00	\$2,680.00	\$10.00	\$35.75	\$20.75
16	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	2,717.0	TON	\$65.00	\$176,605.00	\$62.75	\$73.25	\$69.67



Project: O'Plaine Road Resurfacing

**Section:** 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
17	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	7,985.0	TON	\$80.00	\$638,800.00	\$72.00	\$86.35	\$77.70
18	42001300	PROTECTIVE COAT	180.0	SQ YD	\$5.00	\$900.00	\$2.00	\$3.50	\$2.50
19	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	570.0	SQ FT	\$6.00	\$3,420.00	\$6.50	\$9.00	\$7.33
20	42400800	DETECTABLE WARNINGS	88.0	SQ FT	\$22.00	\$1,936.00	\$30.00	\$35.00	\$33.33
21	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	81,718.0	SQ YD	\$2.00	\$163,436.00	\$2.00	\$4.50	\$3.11
22	44000200	DRIVEWAY PAVEMENT REMOVAL	1,763.0	SQ YD	\$9.00	\$15,867.00	\$4.50	\$10.00	\$7.40
23	44000500	COMBINATION CURB AND GUTTER REMOVAL	439.0	FOOT	\$5.00	\$2,195.00	\$8.00	\$21.00	\$12.33
24	44000600	SIDEWALK REMOVAL	570.0	SQ FT	\$2.00	\$1,140.00	\$2.70	\$5.00	\$3.90
25	44004250	PAVED SHOULDER REMOVAL	6,633.0	SQ YD	\$5.00	\$33,165.00	\$4.95	\$6.45	\$5.63
26	44201761	CLASS D PATCHES, TYPE I, 10 INCH	371.0	SQ YD	\$30.00	\$11,130.00	\$30.00	\$74.00	\$53.00
27	44201765	CLASS D PATCHES, TYPE II, 10 INCH	557.0	SQ YD	\$30.00	\$16,710.00	\$30.00	\$73.00	\$52.67
28	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,300.0	SQ YD	\$30.00	\$39,000.00	\$30.00	\$72.00	\$52.33
29	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,486.0	SQ YD	\$30.00	\$44,580.00	\$30.00	\$71.00	\$52.00
30	48101200	AGGREGATE SHOULDERS, TYPE B	1,594.0	TON	\$25.00	\$39,850.00	\$29.35	\$40.00	\$34.20
31	54248510	CONCRETE COLLAR	2.0	CU YD	\$800.00	\$1,600.00	\$200.00	\$350.00	\$250.00
32	59300100	CONTROLLED LOW-STRENGTH MATERIAL	2.0	CU YD	\$400.00	\$800.00	\$250.00	\$350.00	\$283.33
33	60250200	CATCH BASINS TO BE ADJUSTED	8.0	EACH	\$400.00	\$3,200.00	\$300.00	\$375.00	\$325.00



Project: O'Plaine Road Resurfacing

Section: 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
34	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$300.00	\$435.00	\$345.00
35	60256700	MANHOLES TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	2.0	EACH	\$1,000.00	\$2,000.00	\$650.00	\$810.00	\$703.33
36	60260100	INLETS TO BE ADJUSTED	5.0	EACH	\$400.00	\$2,000.00	\$300.00	\$375.00	\$325.00
37	60500060	REMOVING INLETS	4.0	EACH	\$400.00	\$1,600.00	\$100.00	\$350.00	\$183.33
38	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	271.0	FOOT	\$30.00	\$8,130.00	\$22.00	\$36.00	\$31.33
39	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	168.0	FOOT	\$30.00	\$5,040.00	\$35.00	\$38.00	\$37.00
40	67100100	MOBILIZATION	1.0	L SUM	\$124,250.00	\$124,250.00	\$125,000.00	\$186,640.00	\$149,880.00
41	70300100	SHORT-TERM PAVEMENT MARKING	19,538.0	FOOT	\$0.10	\$1,953.80	\$0.01	\$1.55	\$0.52
42	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,522.0	SQ FT	\$1.00	\$1,522.00	\$0.01	\$0.05	\$0.02
43	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	52,411.0	FOOT	\$0.25	\$13,102.75	\$0.01	\$0.01	\$0.01
44	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	35,810.0	FOOT	\$0.25	\$8,952.50	\$0.01	\$0.01	\$0.01
45	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	5,681.0	FOOT	\$0.25	\$1,420.25	\$0.01	\$0.01	\$0.01



Project: O'Plaine Road Resurfacing

Section: 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
46	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	6,319.0	FOOT	\$0.50	\$3,159.50	\$0.01	\$0.01	\$0.01
47	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	152.0	FOOT	\$2.50	\$380.00	\$0.01	\$0.01	\$0.01
48	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	9,441.0	FOOT	\$1.00	\$9,441.00	\$0.01	\$2.00	\$1.00
49	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	3,147.0	SQ FT	\$1.00	\$3,147.00	\$0.01	\$1.50	\$0.51
50	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,522.0	SQ FT	\$5.00	\$7,610.00	\$3.25	\$3.25	\$3.25
51	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	47,857.0	FOOT	\$1.00	\$47,857.00	\$0.50	\$0.50	\$0.50
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	7,005.0	FOOT	\$1.00	\$7,005.00	\$0.60	\$0.60	\$0.60
53	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,681.0	FOOT	\$1.00	\$5,681.00	\$0.70	\$0.70	\$0.70
54	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	6,319.0	FOOT	\$2.00	\$12,638.00	\$1.40	\$1.40	\$1.40
55	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	152.0	FOOT	\$4.00	\$608.00	\$3.25	\$3.25	\$3.25
56	78001110	PAINT PAVEMENT MARKING - LINE 4"	4,554.0	FOOT	\$0.20	\$910.80	\$0.05	\$0.25	\$0.18
57	78001120	PAINT PAVEMENT MARKING - LINE 5"	28,805.0	FOOT	\$0.30	\$8,641.50	\$0.05	\$0.30	\$0.22



Project: O'Plaine Road Resurfacing

**Section:** 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
58	88600600	DETECTOR LOOP REPLACEMENT	1,597.0	FOOT	\$15.00	\$23,955.00	\$16.50	\$20.00	\$17.80
59	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$1,000.00	\$10,000.00	\$115.00	\$500.00	\$371.67
60	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	2,602.0	UNIT	\$1.00	\$2,602.00	\$1.00	\$1.00	\$1.00
61	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	875.0	FOOT	\$15.00	\$13,125.00	\$5.00	\$19.40	\$12.88
62	LC400202	SEAL COAT	1,155.0	SQ YD	\$2.00	\$2,310.00	\$1.10	\$5.00	\$3.68
63	LC600200	INSTALL SURVEY MONUMENTS	1.0	EACH	\$500.00	\$500.00	\$850.00	\$1,700.00	\$1,335.13
64	LC800150	REBUILD EXISTING HEAVY DUTY HANDHOLE	2.0	EACH	\$1,000.00	\$2,000.00	\$1,600.00	\$2,100.00	\$1,900.00
65	X2800500	INLET PROTECTION, SPECIAL	4.0	EACH	\$300.00	\$1,200.00	\$120.00	\$200.00	\$146.67
66	X6023500	INLETS, TYPE A, WITH SALVAGED FRAME AND GRATE	4.0	each	\$1,000.00	\$4,000.00	\$1,000.00	\$1,250.00	\$1,083.33
67	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SEPCIAL)	9.0	EACH	\$500.00	\$4,500.00	\$550.00	\$735.00	\$611.67
68	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$2,928.35	\$3,500.00	\$3,142.78
69	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$62,125.00	\$62,125.00	\$36,363.65	\$75,100.00	\$51,943.89
70	XX000856	MAILBOX REMOVAL AND RELOCATION	26.0	EACH	\$150.00	\$3,900.00	\$150.00	\$335.05	\$236.68
71	XX206400	MAILBOX POST	26.0	EACH	\$75.00	\$1,950.00	\$101.50	\$150.00	\$133.83



Project: O'Plaine Road Resurfacing

**Section:** 13-00109-08-RS

**Description:** Mill and Resurface O'Plaine Road

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
72	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$80.00	\$4,000.00	\$5.00	\$152.25	\$69.08
		Bid Total				\$2,068,088.10			